3t
i

©

HITRAREI

R TSR LA A L TR R d EL 5 | 0 10 5 s R Ak N BRI 0 5 F M

A 2 AL ARURI5 2 AR R 190 37 B T e 1 8 o D[] e 3R AR R A 1 P 3R 30 A
GEit oy RRGETE i X B B AROR A R — A7 R AR R R/ 0-1 B R
15 7€ 2210 |3 AR5 R BCAT A% (A BAF L R B — A 7T

R I3 88 25 40 (0 M 5 L S ik e I -5 41 55 A0 5 £ 8 ) HR 27 TR i 057 5
ZEA MG, BURTHCE B A AR e T, BEREBUF RO AE 5 0 AR 1w

5.1 MISBIGE

AT T fAT BB L ARR 5 AR ORI S S A A A L (E SR 1 7 B LR R
5.1.1 HBM

PR O TR B 1) B AR R 5 BRI 55 R WA, A 5 1 B T L i AR S e R
FEY BN S 3

HIOANEEE: —3,—2,—1,0,1,2,4,8,16, %X 9 MEFCREE 2 MHZHAEE 3
B v eee SHEA 9 MR, T R SR 2 FRR by 1 B R ) BRI,

DR ERY itk s 9 AN ¥ B AURT m.

(52K mRY 0B BURI 3 2802 1 Ah SR i 1 G

AW O LS 0 MFREE SRR 0, ) fie J 45 A 52

HER A ERR R 314U F 5 KK %k,

(D A EBCERAL R s ORF A ERD .

(2) Fif BB, s, =2+3+6—6=5,

) I ERFA: s;=(—1—2—3) X (s; +31)=—6s, —6X31,

(D) F2AREBERRA: s, =11X (s, +31)=11s, +11X31,

(5) & 3B E R, ss=—6X (s, +31)=—6s,—6X31,

DL b 5 TSRO, 35 4030 2 0 i R B Y s 75 80 B RURT m,

m=s +s,+s;+s,+ss =5—31=—26
(WRITHY b2 m a3 ZmA -,
it 8 MNAEERECN ayvay .o sag M 2T
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f(x) = (x+ta)(x+a)(x+a)=x"+px +p.x° + 4+ p;x+ ps @)
Hrpp R 8 MECZ A 255p, AR 2 DMECRZ Al py HAREE 3 DB Z R -ooee5ps
Fi 8 MR, BAR LR E M m=p, £ +ps
2 x=1. DO LB (D =0(HA —2E N — D . X (DO ABA (D=
1+p +p,tetpe=1+25+m, WM TR RN m=p, + -+ ps=—26,
AR — 1L EPA A 1) =0, 3R 5 1 ST A
B 25 iy 8 AN s — 1 BN (D A i 8 M Bt Fe i3 B AL >
fo 1] B
[8E3EY DL LI SRBERI E S &k . i3 B A7 i o X, BRS04 2 50K
L 3 ADHORFR oo X — R AT AT . 43 2 0 SEARURT A 22 0 5 A SELARL L R AL AR
R I — M R T W SE R A
TR X T4 2 19— M n AN HEEC ey SR IO B RRR 2
[(wREER] WEEREE . 5K o DB BB,
X4 Y n AR RAT R 2 DM AT E 3 B, e SHEA 0 N2
o B SCFT A XS R R0 R 3 n A B8 0 5AURT m,
MNEE B A o AN BOR IR X n AN B R BRI m,
(D Bt #E A
& LRI A 1 Z2 32 A B ARy 2 IR
WE A 0 DAY a B0 DB S A 0 DMEEBCIABETE a[ 1],a[ 2], a[n],
[F] Bf A 385 OC T3 n SR n IR 2 X
y(x) = (x+a)(x+a)(x+a)=x"+px" ' +px" +-+pax+p (2
Hrr,pr B n Bz Msp, HAEE 2 DBORZ A spa c AEE n— 1 DNEORRZ F5p0
i n MEZ L. B . m=p,+-+p,.
A x= 1,420 22 158 5 AF FROR AR, W] B AR y (D54 N (DO A A y(DH =1+
pr+pe At pa Fpas FIBTTEGE IR PR n ASHEECZ R pyy AR AR B AR m oy
m=y(l)—p —1 3
PEIZE A, B X () Hy th TR n A #4008 B AU m,
(2) BIpikit,
/75K n AR T LA
#include <stdio.h>

void main ()

{ long k,m,n,s,y,all100];

printf (" IHEWEBEEM NS n:") ;scanf ("$1d", &n) ;
s=0;y=1;
for (k=1;k<=n;k++) /1B A n AR

{ printf(" HERWALEsL1aNMEBE ", k)
scanf ("$1d", &alk]);
st=alkl; y*=(l+alk]); /ISR s B £ (1)
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m=y-1l-s; /PR ER m

printf (" HAMS1aMEHE A :%1d",n,all]);

for (k=2;k<=n;k++) /7 0 R
printf (", $1d",alk]);

printf("\n Pl E$1d NMEHWEHRA m=%1d. \n",n,m) ; / /i th 4

}
(3) BB~ pl5i3m.

T B A S n: 8
WA 8 AN#HECh:-5, -3, -2, 3, 5, 8, 10, 13
DI L 8 A B H AT m=-266142,

BT REFE I A n A BB S 5 DU A L ARRI 45 SR A R

DAL R PR SR AR G T BO Fe A ok — A B R A 52 J s B i H 15 B 7

[ B R 15 AR i AR PR TP A5 TSGR 5 BD [R5 3047 B AT IR S5 0. B
b =z 5 o

WMRBFTREE A 9 R —3,—2,—1,0.1.2.4,8.16. RI AT 454 2 5 Ay — 26,
Hp 8 —1 22— 7,

BRIVl A7 — 13X — F] Al B 0, LA B P 52 B E AR M i e A Ol LR A 30 v SR — S R
WARH RIS .

5.1.2 iRERAM
R LT P AR EAR 2
sl = /1+ 24+ /34++-+/n (4)

s2 = /5+ /3+ /5+ 3+t /5B KXPAE A E D (5)
i AE R n AR s1 5 s2 O 8 B/ NEUS S 8 D),
1BITER
X T 25 0 W IEREE n 76 s i o n J2FT5 0 s2 W ) 2n J2FF 07 B A UL,
HREAN (D) 5 G FFAE AR T 2 Ab FEAR 5 9 22 03X — M i J2 B0 A G5
P38 A AT 1 B2 n WE IR ASE T A BEAR S i A X — e S, R R R

[6] 152 A0 IR o i R AR i 2 O L o

(1) SEF s1 kA,
W aln— 1~ DI R a JE IR IMRPIE s1=n; JHFFHK RmAl,

sl=a+sqgrt(sl);

WRAE F ik A Y sqreCsD), BIA] 528 s1 MR S .
Ma=n—1Hf,sl=(n—1) +sqrt(n); LHEHN 1 ZHRS.
Ma=n—2Hf,s1=(n—2)+sqrt((n—1) +sqrt(n)); LHEN 2 EHRS,
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Boa=1 W, s1 LI BRESINZZAMHALITA n—1 25,

HeJa — JE RS 1 B AR 58 A

(2) S s2 KA,

FIFEBLE a(n— 1~ DEER . PEERINEAIE s2=5+sqrt(3); fHFF n—1 K.

s2=5+sgrt (3+sgrt(s2));

WA 22k 2 (Y sqrt(s2) BIAT S8 2 AR S i E .

M a=n—1Hf,s2=5+sqrt(3+sqrt(5+sqrt(3))); LN 3 EZHR 5,

Ma=n—2 W},s2=5+sqrt(3+sqrt(5+sqrt(3+sqrt(5+sqrt(3))))); LM AN 5
ERS

Ma=1Mf.s2 LA G BREAMNZZAAHMT A 2n—1 JZR 5.

I Jo — RS TR 25 R 52

2. BRFIRIT

/T BSRPIA R A
#include <stdio.h>
#include <math.h>
void main ()
{ double a,n,sl,s2;
printf (" l%?ﬁ/\?%éﬁ n(n>1): "); scanf ("$1f",&n);
sl=n;s2=5+sqgrt (3);
for(a=n-1l;a>=1l;a--) J/MEE n-1 & 1B a
{ sl=at+sqgrt(sl);
s2=5+sqrt (3+sgrt(s2));
}
printf (" s1=%.8f\n",sqrt(sl)); J/RIEWI s1 5 s2 T

printf (" s2=%.8f\n",sqrt(s2));

3. BRIETTRAISZE

W AIE® B n(n>1) : 100
s1=1.75793276
$2=2.71870969

i BN a 63, W sl=a+sqrt(sl); M s2=5-+sqrt(3+sqrt(s2)) ; &L IR
SimEMHIITLE,
A . Ao B R R IXE] [, d ] g #R 2

sl = /c+ (c+D+ /(c+2)+-+/d (6)
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s2 = A+-Ac+l%+/v+ (c+2)+ -+ Je+ /d @)
AKX ] R PR IE I cod(e<<d) i AR 20T s1 5 82,

5.2 [FIHS B

P[] — A B50R 4 A A9 BB S [l i

BN .555,0. 7777 # 2 [ A EK . iy 2 () A% 4% 450, T 5 o ) [ A /NER

5106 P 55 B30 SR B AN T R BN 5 T [ R 5 R AR A () D 2 S 9 Y
GAE o AT R [ A RO ok [ U, PR [ A 5 R A /N B = R DA TR RS 4 R 2 A )
T /NS 2 FIAT e 30— S A R A AR S R A

5.2.1 [RIA% &%

SEFE — 1 TR7 510 [m) 5 R0 o [

(&Y fFAEIERE n<<2019 .13 n A 1T A5 RIS RE 50 m AWk 2019 & Bk,

CIERAY AR 4k A 00 il i I B R E

Sy n=1~2019 A~ 1 41 5 (1 [ A% 4% BBk L 2019, H &8 r RAMF 0,1,
,2018,

WIS — n i, n A 1 AR RS ERR DL 2019, %0 r=0, Wiy S8 AL 5T

B4 M n=1~2019 />y 1 i) RS B8R LA 2019, RECTAFELE 043X 2019 A
AE r RANE 1,+0-,2018, FEHREHhE L, 2019 AT AR TE 2 20 W AN A B0 AR R 1Y

AN 1<n, <<n, <2019, /1 n; > 1 MM HEE my 5H n, A 14 m, . iX
P RS R LA 2019 R BOH TR . TR H 22 m=m, —m, BEBE 2019 BBk, 1 5

n,—n, n n,—n

\ n

m=m, —m; = 11--100++0 = 11+--1 X 100-+:0 (D

Bom B2 BB RE A 2 55 NG AR 2019 BEBR . FUA FI# #2019 BBk,
EREE 1<<n, —n, <2019, BIfFAE n, —ny A 1 A R RS ECRE B 2019 BRSBTS .

PRI UE AR A7 72 IR BE R n<<2019. {43 n 4> 1 A9 [R5 %L m REHE 2019 BEER .

(E&E] =0T EZDA 1AM R R m G 2019 HEER.

OoRmEY it 1 B vk S 3R 0K

PORH 1T A RSB =D =204 1 A RER 2019 BERR , nl St B Bk ik L 4n
K 5-1 R .

HBA — 5 BT 5 ] B AT RS e R R 2019)1111??%
S4B o B 0 L B R m R R Torer
2019 ¥k, 1002211

T L 2 4 R B0 R T R BT T 5 ST
HRA n<<2019, 2T n ZP0RHEZRK MBHEFEL EE e
A L S 0

Pl 5-1 S e B kR R I
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[HmBERKY  HORFEBBER p B BR .

Y E IE A p (L E BB p LB AN IR 5 B AT ED  BOR /NI IEBEEL L 145 n

A1 2R TRl S BRE B p BE R .

Nt A By B p BB N S B AT EE T TR D £ K it AR RE R A R A

By 5 Ry A B R AR L By HBERE 0 8l SRR RTREDY 1.
(1) B BRIE BN BT 24T

TR HURE AR s B U Y B B BR B A BR B p (R 25 8 1E B B0 L 5 i R AR R

M,

PAARE 70 150 28 B R FE 2R AR PR AN : c=1.n=1;8 c=11.n=2 %,
BERE a=cx 10+ 1 X RE c=alip. B —L0. BEGIT 1 DB ER n

I
LAREL =0, G RGN it 45
(2) BIFiit,

/IR RE D LA 1 REH G B R p B
#include <stdio.h>
void main ()
{ int a,c,p,n;
printf (" ﬁ%?ﬁ/\%&%ﬁ( p: "); scanf ("%d", &p);
if(p%2==0 || p%510==5)
{ printf (" AFFERBEEESD.",p); return; }

n=1; c=1; //WERIIRTE n, ¢

while (c!=0)

{ a=c* 10+1; c=a%$p; n++;} / /S Jite 85 e st X B AR

printf (" ZAWHsd N 1 HEHA R, \n",n,p);
}

(3) FFpisfinfl S5 Ui .

iHH AR p: 2019
2T 6724 1 MHEECA e 2019 3R,

Fr a5 RE AT 672 4 1 A REWL 2019 BEER L &8 A TS0 e sUBR L  ARAT X — 45

RILJE R EER.

KEAF G BT L2 A 1 AREP 2017 BER” R SRS B ATIHRS

R ITE R0,
5.2.2 [AIAS%cCRHN
ARTTHE n A FASECR F L ALEE [F D 2 HOR JLS RS /NBCR AL, RS
s(dyn) = d+ dd+ ddd + -+ + dd-++d(n 4 d)
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f(d,n) = 0.d40.dd+0.ddd + =+ + 0. dd--dUNEEJF n 4> D) (3)
K (2) K n A EIEHS d BHCZ M, A kA kAT d(d=1,2,-+,9),
B4, s(3,5)=3+33+333+3333+33333,
ARy n TR ECRS d /N F0L Hb o k UM R R A 2L k M dd=1,
2,00,9),
Bl4n . £(7,4)=0.7+0.77+0.77740. 7777,
LimRm 1] KR R A2 EA s(3,30),
[KERY 51 A P& (9,300 FH LA 1Lk A,
2l AR s(9,30) = A MR, I s(9,30) 5 s(3,30) HHEAHE, M s(9,30) AT L
M, FL b H
$(3,30) = s(9,30)/9 X 3 = s(9,30)/3 €D
M s(9,30)=9+99 4999
=(10—1)+(100—1) F+++(10°°—1)
=11++10—30=11---1080 (FJEH P 28 4~ 1)

s(3,30)=11---1080/3 (BB 28 1~ D)
R 1111/3=370,4% 1;1080/3=360, K i1
S(3,30) = 370+--370360 (5)
RICMSIE

94~370

R AL s(3.30) AEE R () iR B 9 4> 370 A Y L i A Tk

Lo &% 2Y R E A /N EOR £C6,30)

[RAEY  SIA bR & 109,300 F LA fk R il

FIRES] A ] £(9,30), KK £(9,30) 5 (6,30) B #5405, 1 H £(9,30) 7] L # 4%
B

£(6,30) = s(9,30)/9 X 6 = s(9,30) X 2/3 (6)
[10]
£(9,30) = 0.9+ 0.99 + =+ +0.99+9 = 30 — 0. 11--- 1 (JFH/NE L LE 30 4~ 1)
]
f(6,30) = (30 —0.111++) X 2/3 = (60 —0.222-++)/3
SN

£(6,30) = 59, 77--+78/3 = 194+ 2. 77---78/3 (H P )G /NECA FELE 29 4~ 7)
R 2777/3=925,K%K0N 2100 2778/3=926, K 1fij 15
£(6,30) = 19. 925---925926 @)
v

p—

94~925

[ T NS A 2, £(6, 30 I EE R (O H i B 9 AN E A& 7 925,
[REHEREY HKEEEEH s(d,n) 5@ /N £(dan) ,
B NER d(1<<d<<9) , R n(1<<n<{100), %1 s(d,n)5 {(d,n).
18It E S
W s BAHAAAER s(dyn) L1 IFE O 50T - s 2 1A 0 50 . DAL S 3
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WE LB AEE R {(dn) L (L0 77 B /N BORN A 38 B0 o (L1 A7 /NS S 268 1 17
(2] FEAt/INBUS G 55 2 3y eeeeee Ao JFEAE/INECS S5 n i,

(1) HEHCRFN,

BB I n BRSO AL G=1,2, ) B N d

BWE 1A~ fEXIEA n K50 0 ANEOHEI: i=1 B AN oA d A, A5
nXd;i=2 B, A n—1 A dHI. HE— D Xd; — 5 i 7. A n—it+1 4~ dM
hin, A (n—i+1) Xd,

SE AN « 38 F5 AL FE U & 32057 S it 20 437

o

s[j+11=s[3+11+s[]J1/10;s[31=s[31%10; (J=1~n-1)

BT 204 R D S T A 3R A 1 ARG Az B o

(2) /NECRFN,

FIFEBEE 1L~ IG5 n O SCHtE n ASBOHIN : i=1 8F /NS 28 1 A n A
d AR, HAE A n X dsi=2 B /NSRS 2 0 n—1 A d AN HAE A (n— 1D X ds —
AINBUS RS AL A n—iF 1A d A, A (n—i4-1) X d,

DA AR AE — SRR R S8 e n AN ARS8 T NS G S n 7 IR IR L %4
STl 1 A

£[3-11=£[3-11+£[31/10; £[31=£[3]1%10; (=n~1)

e A B A (0B g /N BORT Y B 3 LB T RE D 1 0. AT BN 22437
ANECRV B S i S R G xS0 Tl /N B0 SRR N/INEORER 1 LT I 3 A5 B
HE N RS n iz

2. RIBECRAEFiRit

//REEHM s (d, n) =d+dd+ddd+--+dd--d (n I d)
J/R/ANECH £(d,n)=0.d+0.dd+0.ddd++++0.dd*-d (n P d)
#include <stdio.h>
void main ()
{ int d,i,3j,n,s[5000],£[5000];
printf (" IHEHIAZEE d,n: "); scanf("%d,%d",&d,&n);
for(j=0;j<=n;j++) s[jl=£[J1=0;
for(i=1;i<=n;i++)

s[i]=f[i]=(n-1i+1) % d; /5 i it n+v1-1 4 az M
for(j=1;j<=n-1;3j++) / /58 n ARG Gt — i

{s[j+1]=s[j+11+s[j]1/10;s[j]l=s[31%10;}
printf (" s(%d,%d)=",d,n);

for(j=n;j>=1;3--) / /N E T IR B A i A s (d, n)
printf ("sd",s[j]);
for (j=n;j>=1;3j--) //IN5E 0 AS/INECBUE 52— 3k

{ £0J-1]1=£[3-11+£[3]/10;£[J1=£[31%10;}
printf("\n f(%d,%d)=%d.",d,n,£[0]);
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for(3=173<=n;j++) /1N IR B 0 B 55 13 th
printf ("sd",£[3]1);
printf (" \n");
}

3. BRFE1TRAISI R

EH AR d,n: 7,30
s(7,30)=864197530864197530864197530840
£(7,30)=23.246913580246913580246913580247

M E R FBEHCR 2 SR, 864197530 X —“HE WAEMPELE 3 W HA KRG 3 i
840 NJg FEE .

MR INBCRFZE R NS T B T BB 3 7 247 Z A, Ay & 246913580 iX —
“EAET,EE 3K,

[Fi) i H0R 0 &85 5 vp i T AT S5 06 IR /INBOR B R AT L 2 A S TR Y R A
A A TR O BT R 7R S

5.3 SitWEE

AT RV IS Wb R A A% S S T i A 3 ARSI S ST R %
SSWIRES TSR RN

5.3.1 Ihlbideps

RREGNR DA E TR A 2 /D ISR AL T g it 72 .

[BA&@Y X FAETE x+y+tz=15.{G it

(1) xuy.z R AR R EUR 1 250

(2) xyysz N IE BB A5

(3) Xoy.z i & x=—3,y=2,2=>5 BB H L.

(€=2:9%) ) BEEIVSE AV S2 5o iU IE - AW E e e AN

(D) B L@ A 15 ASARTE B /N E] 3 A0 085 A .y, 2 AR & 7 T YA [
AP RI A, SRR B 3 A& T A I HE R E 0 2 BRBR AR X 2 BeFR AR o Y 3 A IX
HAYTF 3 A& T W x.y. 2 R, TR 15 A/NBRSX 2 Bepgt st 1785 & —Fp AR
[ {1 1R 570 X6 0 — o 5 BR A 2R, X N G T x+y +2=15 M — 2. HE5FhECE T
15+2 AALE PPkt il 2 bR o7 & A& % CA15+2.2) . T x.y .2z A 518 50 Y
HHE R C(17,2)=136,

(2) # x,y.z WIEBECAHY T D& 72D LA /MK A Y — & 75l
—/NER, BRIE 15—3=12 /MRS 2 SRR At 17 HES , A A H I S 4 & # C 12+ 2,
2). WM x,y,z AIEBEBRE ALY C(14,2) =091,

(3) B Xy ysz it x=>—3,y=2,2=25,%2a=xT3,b=y—2,c=z—5, N xt+y+tz=
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1543 at+b+c=11 (a,b,c=0) .l EATHIX —F R IE AR ASCON A GH C11+
2,2), B x.y.z 2 x=—3,y=2,22=5 BRI HECH C(13,2) =78,

[(wiEHE]

XF T4 E B IR B s X T 3 MR x,y. 2 IR E TR xFytz=s, {81 x.y.2
BCH XA [c,d](0<<e<<d,3c<s) MR ZH BT,

(D B AL

BT Xoy a2 JEIRMCES DT Loy d ] 0 i A R 8, G 2Rl 2k fF xHy 2= B Hh 5
BREIEH n ST .

THEREH 3 DR x.y. 2 WA R/ANAE RGP DX ] 2 Le.d].

(2) Bt

[IRET R x+y+z=s KIS 5IT

#include <stdio.h>

#include <math.h>

void main ()

{ int c¢,d,n,s,x,v,z;

printf (" l%ﬁ}%%%”}{ﬁﬂﬁ c 55 d:"); scanf ("%d,sd", &c, &d) ;
printf (" iH#iEM s (3c<s<3d): "); scanf ("$d",&s);

n=0;

for (x=c;x<=d;x++) //VEE 3 EMIPMA %, y, 2

for (y=c;y<=d;y++)
for(z=c;z<=d;z++)

/ /W A AR GE T I i A

if (x+y+z==s)

{ n++;
printf (" x=%5d,y=%d,z=%4d",x,vy,2);
if(n%$3==0) printf("\n");

}

printf("\n JLsd4f#. \n",n)

}
(3) BRFEfrapl5i3m.

W ER RN c 545 d: 5,9
i E M s (3c<s<3d): 20
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BEIA c=0,d=15,s=15, 814 &P # x+y+2z=15 A9 136 LA L E# .
LI c=1,d=15,s=15, 818 N x+y+2z=15 A9 91 N IEBEE# .

x=5,y=6,z=9
x=5,y=9,2z=6
x=6,y=7,z=17
x=7,y=5,2z=8
x=7,y=8,2z=5
x=8,y=7,2z=5
18 41 .

x=5,y=7,2z=8
x=6,y=5,z=9
x=6,y=8,2=6
x=7,y=6,z="7
x=8,y=5,z=7
x=9,y=5,2z=6

x=5,y=8,z=7
x=6,y=6,z=8
x=6,y=9,z=5
x=7,y=7,2=6
x=8,y=6,2=6
x=9,y=6,2z=5

XTI [co d Ao f BE K o o m LABRG R 2L



